


Пример: составим  с 

использованием оператора 

repeat  программу 

решения задачи о печати 

чисел 3 5 7 9 с прошлого 

урока. 



LABEL m1, m2; 

VAR f: integer;  

BEGIN 

     Write (‘Начало счета ’); 

      f:=3; 

m1:  

     Write (f,’ ’); 

      f:=f+2; 

      if f>9 then goto m2 

     else goto m1; 

m2: Write (‘Конец счета‘); 

END.    

VAR f: integer;  

BEGIN 

     Write (‘Начало счета ’); 

      f:=3; 

       repeat 

           Write (f,’ ’); 

            f:=f+2; 

       until f>9;  

 

      Write (‘Конец счета‘); 

END.    







Вывод 

‘Введите 

слово’ 

Ввод Slovo 

Вывод 

Slovo, ‘!’ 

Slovo=‘Хватит’ 

Вывод 

‘Хватит так 

хватит’ 

VAR Slovo: String;  

BEGIN 

     repeat 

     WriteLn(‘Введите слово’); 

       

      ReadLn(Slovo) ; 

       

      WriteLn (Slovo,’!’) 

       

 

       until Slovo =‘Хватит’;  

       

       Write (‘Хватит так хватит‘); 

END.    


